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Lo premesso per un lovoro perfetto di comondi con giunti snodoti e l'osservozione scrupoloso delle seguenti 
regale di costruzione: 
The permise for perfect working of shafts with universal ;oinls is the scupulous observation of the following 
installation conditions: 

A Si odoperino sempre: N° 2 giunti semplici o N° 1 giunto doppio. 
One always uses: N° 2 single ;oints or N° l double ;oint. 

N° 2 Giunti semplici 
Single joints 
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N° 1 Giunto doppio 
Double joints 

B Per otlenere uniformita di movimento e indispensabile che gli angoli dei due olberi siano uguoli. 
To obtain uniformity of movements it is essential that the angles of the two shafts should be equal and lie in the same plane. 

C 

Esatto: 
Angoli a uguoli 
Correct: 

Angles a equal 

Esatto: 
Angoli a e � uguali 
Correct: 

Angles a e � equal 

L'albero motore e quello mosso possono essere spostati soltanto parallelamente a se stessi per non avere 
variazioni angolari. 
T he input shaft and the driven shaft can only be disposed parallel to each other in order not to produce 
resulting angular velocity variations which have not been compensated. 

Esatto: 
a parallelo a' 
Correct: 

a parallel to a

a. simmetrico a.

a. simmetrical to a.
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Esatto: 
a non porallelo ad a 1 

Correct: 

a is not porolfel to a 

a. non simmetrico �

a. not symeetrical to �

D I cuscinetli degli alberi si devono situare ii piu vicino possibile oi giunti. 
The shaft support bearings should situated as close as possible to the ;oints to reduce radial loads. 








